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All questions are compulsory.
This question  paper  has
5 sections : Section A, Section B,
Section C, Secton D and
Section E.

Section A is of multiple choice
type and each question carrics
1 mark.

Section B is of very short answer
type and each question carmnes
1 mark.

Qection C is of short answer l
type and carries 2 marks each.
Section D is of short answer 1
type and carries 3 marks each.
Section E is of long answer type
Each question carries 3 marks.
All four questions of this secuon
have been given internal choice.
You have to do only one question
from the choice given In the

question.
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Section - A
A = I R & W F suadiE

V2 & 0 =gy fawer | (90° —4)
€1 A S TF a

iy 30° i) 45°

iii) 60° _iv) 90°. 1
A TORE o1 YHN, U TN g
98 W fRar &, oowr 8 wem

lﬁ%imﬁaﬁqwmﬁqm,

0

i

) A<dy, @) A>2,

iii) A>2r, iv) FHIAEH 1

f & weha difes skew § fria
Y= 1W<t &% o forg el & wfen

5D
|

Ce
ij A=0,B=1,C=0
i) A=1,B=0,C=0
i) A=1,B=0,C=1
ivf A=1,B=1,C=0. t
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a) The refractive index of the prism
material of angle 4, is ¥2 and angle

of minimum deviation is ( 90° -A )

then value of A will be

b)

H985671

i 30° i) 45°
i) 60° . iv] 90°. 1
Light of wavelength A falls on a

photosensitive surface having work

function E.

Ao
be emitted, when
iy A<k ii)

Photoelectrons will

l}ln

i) A>2A, --iv) allof these. 1

In order to obtain output Y =1 in
the logic circuit shown in the
figure, the input should be

5o

iy A=0,B=1,C=0
i) A=1,B=0,C=0
iiij A=1,B=0,C=1
ivj A=1,B=1,C=0. 1
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Each corner A and C has charge

q, and on the cach corner B and

D, has charge -q, of a square

ABCD of side l. Charge at A s n
. q

equilibrium, then the ratio =L will
9,

be
i1 W 242
1
v — 1
1) ﬁ ) ./3
Two concentnic circular cotls of

radius R are placed perpendicular
to cach other. The resultant

magnetic moment by passing the
same current / in both of them,

will be 1
iy J2aR? W) 2R

i) 2¥2xIR? ) O 1
A plane clectromagnetic wave of
frequency 100 MHz is propagaung
along + X-axis in vacuum 1§
electric field at any point s

E;.:ﬁ.(};‘ Vm™* then the

magnetc held Eﬁwzli be

ij 20x107%k tesla

iij -20x10"° k tesla

i) 20x107" 1 tesla

iv) 05x10 " Kk tesla !
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Section - B
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W Lot

A—e b 3
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100
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F 79 98 ? |
3000 A ATH e dgE TEHT A
T FFE 7E FI0 |
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fer o fam § <hiates § @ owm
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A 8

Y

J T (60 W-220V ) TG (40 W -
220 V) ®1 220 V & T § HTER T
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Find the equivalent resistance

" across A and B in the circuit

shown below, if V, <V . 1
300
A—e
e WWW—
100
If speed of light is one third of its
resent value, then what would be
the effect on the binding energy of
the nuclei ? 1

—B

Find the frequency of an
electromagnetic wave of
wavelength 3000 A. 1

Show the resonant frequency by
drawing a 'graph between the
applied frequency (v) and the
impedance ( Z ) for a series LCR
resonant circuit. 1
In the given figure, a steady
current flows in the solenoid from
A to B. What will be the direction
of the induced current ? 5 1
A— TR

b &

F
Two bulbs ( 60 W - 220 V) apd
(40 W - 220 V) are joined in series
with 220 V mains. Find out th¢
total power of the bulbs. 1
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Section - C

dieed fdEw & w9 9 o9 I 34
FE & 2 2
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100 972 &% favarm gm &fEa
TRA ¥ gEfud 2 7et aoewt /@
ME] T 2
faoveudt & wam @ £ a1 g

qESH Tl F Q1 Aol 1 AvAET & A
R Jfaety fag 300 @t # g ot ura
g &) 5 E, fagd aws 9 & @
H g A & T smm fag
100 ¥l &1 g0 W WA & &1 dell &
fae ae® ael 9 WA WA alfAu)
éﬂﬁhﬁgﬁaﬁrﬁaa E, & da & fau
afaery fag feamt gt v wra &m 2 2

araan
feu o oftew F e v & oA @
MU WWE 7w a T e faRan & 9w
E,= 2V E,=aV

c W}_._"w_b

[4] _
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—WW
R=50
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How does the Zener diode work as
a voltage regulator ? 2
Enunciate Snell's law of refraction
by Huygens' wave theory. 2
Calculate the de Broglie
wavelength associated with an
electron accelerated by potential
difference of 100 volt. 2
In a potentiometer experiment,
null deflection point is obtained at
a distance of 300 cm for the two
cells of emfs E, and E, joined in

series. When cell of emf E, is

removed then the null deﬂecn_ion
int is at 100 cm distance. Find
out the ratio of emfs of

which distance null
point will be, for the cell of emf

E, only ? 2
OR _
Compute the value of current m
n circuit and potential

the give _
difference between the points 4

and c¢:

E =2V E2=4V

c
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FaW T IAAT wWWA R () W
HHHCT W FHo W INE@ H 93T F9T
(i) BEH F TR & ToEr g
(iii)y IWE WA H fEa Iewes
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Obtain the formula for the voltage
gain by drawing a circuit diagram
of amplifying action of a common
emitter n-p-n transistor. 3
Ionisation energy of hydrogen atom
is 136 eV. A photon falls on the
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hydrogen atom, initially in its
ground energy state, excites it to
n = 3 state. (i) Show the transition
in the energy-level diagram.
(i) Calculate the wavelength of the
photon. (iiij How many emission
lines are possible in the above
transition ? 3
The de Broglie wavelengths of a

proton and a photon are *, and

A, respectively. Kinetic energy of

proton and energy of photon { E )
are the same. Prove that

M JE. 3
Ay

Monochromatic ray of light is
incident on the surface AB of a
prism of 90° angle as shown in the
figure. The emergent ray is just
refracted and moves tangential

from the surface AC after
refraction. Find out refractive
index of the prismﬂmaterial. 3
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What is the principle of meter
bridge ? In a meter bridge
experiment, shown in ti_le figure,
the null deflection pomnt D s
obtained at a distance of 4Q cm
from the end A on the meter bridge
wire. If a resistance of 10 Q is
joined in series with R, the null
deflection point is 60 cm from the
end A. Find the values of R, and

R,. 3

R, ¢ R

iy 5 ®

A —)—6—)— C
40 em —»

P ¥R feyd el At e Ty

U FHEY &1 E o @ T gl

A Hio

i) TEya @ AW H AgE-aF Hw e
H 45° H W fgya W &1 &

L=

rl

ST A~ 31T |
i) e | e w Rafas s
i) W ¥ {yg # 180° &

H= | TR ™ we 3

YOI HIOT T e T WO
Y § 7 q UeRiEe A 9 B witad
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NOR T & AND 7€ &8 U7 & §
it qRUY a9 T T Fey
AR | 3
An electric dipole of electric dipole
moment P is placed in a uniform
electric field E. Find out
ijj torque acting on the dipole by
rotating its axis by an angle of
45° from the direction of
electric field,
i) potential energy of the dipole
in its equilibrium position,
iiij work done in rotating the
dipole by 180° from the
equilibrium position. 3
What is the relationship between
the polarizing angle and the
critical angle ? Two polaroids
A and B are in crossed position.
Unpolarised light of intensity
64 Wm 2 is incident on the
polaroid A. Calculate the intensity
of the transmitted light from the
combined polaroids by rotauing
polaroid B by an angle of 30°. 3
What is Ampere's circuital law ?
Using this law denve the formula
for the magnetic field at a point on
the axis inside a current cam'iﬂg

solenoid.
OR
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What is Biot-Savart's law ? Derive
formula for the magnetic field at a
point on the axis of a current
carrying circular coil with the help
of this law. 3

d)  Find out, by using Kirchhoff's law
In the given circuit, (i} potential
difference between the points B
and D, (ii} current through 3V cell.

- A 2V 20 B

Wl

1o

10

¢

30 3V 3

¢) How AND gate is realized from the
NOR gate ? Explain by making
logic circuit and truth table. 3

qug -
_ Section - E .
I g a0 &g FradE § W we B
%?Mi’%ﬂmﬁawaﬁ’fwmm
« T B IEWT F T 1620 T T
405 99 ¥ | 9§ 997 TI9 HivT 5 39 w5
o T B & WY-F IS e § uEe &
d-de W oW e @ s ¥ (Ren g
log,,4=0-6021) S

Huar
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s ar § aew # 100 wE F %
:
2 2 3 1
HE 4 HE o HOHHE
HE!TIH2+]H3 —,He* +,n°
¥ gR ST 3@ w7 &) E A F g
fafsita g wfd 107¢ @ &, @ a0 #
SR 2 fear &

m(, H?) = 2:014 amu
m[lHlj =1-007 amu
m(,n')=1-008 amu
m(,He*)=4-001 amu

@ 1 amu = 931 MeV E

What is the relation between mcan life

and decay constant ? The mean lives of

a radioactive substance are 1620 years

and 4035 years for u emission and

B emission respectively. Find out the

time during which three fourth of the

sample will decay if it is decaying both

by « and B emissions simultaneously.

( Given, log,,4=0-6021) 5
OR

el 40

A star initially has 10 deuterons. It

produces energy via the following

Processes :

HZ2+ H? 5 H+H

2 3 4 1
and 1H +1H —sze +oN

H985671
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1s 1016W: then

deuteron supply last ?
Given

H985671
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radiated by the star
how long will the

m(, H?) = 2014 amy
m(1H1]= 1007311'11.1
m':g”-l]=1'008 amu

m(,He*)=4-001 amu

 ARY TR ¥ uefgE m f‘g?ﬂa?ﬁ
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i)

iii)

yfeema ¥ 5

On which principle, does the
transformer work ? The number of turns
in the primary and secondary coils of an
ideal transformer are 2000 _ar{d
50 respectively. The primary. coil is
connected to a main supply of 120 V
and secondary to a bulb of 06 Q
resistance. Calculate (i) voltage across
the secondary, (ii) current in the bulb,
(iii) current in the primary coil,
(ivy power in primary and secondary
coils. ' 5
OR

Define coefficient of self-inductance.
A solenoid of self inductance L and a
bulb B are joined in series with an a.c.
source as shown in the figure.

e

H985671
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How would brightness of the bulb

change, when

i) number of turns in the solenoid
arc reduced ?

iij an iron rod is placed inside the
solcnoid ?

iiij a capacitor of reactance Xo is
joined in series with the solenoid,
when (XC=XL]. XL is the

http://www . upboardonline.com
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< 2 9 21 s Bt @ v fag @ g
T ST @ Y A, sy
e F 50% &1 5

Write the formula for the focal length of
the combination of two thin lenses
placed in contact. If one lens is convex
and the other one is concave, then
what would be the nature of the

reactance of the Ff_ﬁlﬁnqigi ? 5 combination ? Justify your answer.
gud H T o1 Uael o6 & §AI $ By Find the position of the image of the

T 1 7 e 4k o o Sae aun ga
o EA @ 99 §ge o9 @ U a4
A 2 3 IW w1 W wifew) Ku o
§ o % #AE g 9% S % wiefaw @
fafa s =i

— 10cm —

wodauruopteoqdu-mmmyidny
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source S formed by the combination of
the lenses shown in the figure.
)r_ 10 cm ,';-——I{)cm f]-:iﬂcm

OR
Obtain the formula for the distance of
the n th bright fringe from the central

“Scma s fringe in Young's double slit experiment.

In Young's double slit experiment, the
_ 3“1?1' separation between the slits is 0-8 mm,
% f-fiee wam 4 S=a v @ n i dra wavelength of light used is 7200 A and

= 1 i @ g7 v i) 40 F &R
W fierel & e gt o8 fud, wgw

the dist_ance between the slits and the
screen is 2 m. Find the distance of the
pomnt from the central fringe, where

wodauruopteoqdu-mmmyidny

W qRe 7200 A qu Red @ © it ;Ezgzig"“ighlismmmemaximm’g
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fer Ffrt &1 mew faw w2 @ FrEm
F IWM FA gY U (g EY & FRT
AT &5 F A F YT A BQ S, A
S,R ¥HI WrEw el & e FE Q
T 3Q HEW W@ EI () S, T S, ¥ EEK
4 w1 U T W (i) AR
S, % ¥R 3 TS I AT T fe W,
A S, ¥ %% ¥ w § #@ aReH
2 S

30

Juar
u-fvva g @ 941 AE & 7 TR Teedqol
faerwart @ € 2 e Q q @Ed FhAE
TﬁﬁTWTf?Fﬁ%FﬂWTﬁ n @&, [rl::rz]%,
56 AR ¥ faadia far € afs 39 e &
U g9 TIE @1 el & IS F W
foga wma =ifs | 5

What is Gauss' law of electrostat_ics ?
Obtain the formula for the intensity of

wodauruopteoqdu-mmmyidny
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using this law. S and S, are two

~ concentric hollow spheres, enclosing the

charges Q and 3Q respectively. [1'} Find
the ratio of electric flux linked with 5

and §,. (i) How will the electric flux

through S, change, if a medium of

dielectric constant 3 is placed inside
S, ? S

OR :
What is meant by equipotential
surface ? What are its important
characteristics ? A charge Q is
distributed over two concentric hollow
spheres of radii , and r, (5 >r,) such
that their surface charge densities are

equal. Find the potential at their
common centre. 5
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the electric field due to a point charge,
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